HaumeroBanmne asToaoporv
( aaMUHMCTPaTUBHbI PaiioH)

n.JlebepunHbin, yn.PaspesHas

Pa3wmeTka Ha yyacTke

OnemeHTbl foporv
8 NPOJIONILHOM Npocure

3nemeHTbI 4oporu
8 NnaHe

TpoTyapbl cnesa

[lopoHbIe OrpakaeHusi u
Hanpasnsioliue yCTponcTea
cnesa

[lopoXHbIE OrpaKaeHus 1
HanpaensioLLIe YCTPOVCTBA N0 0CeBoM

TopusoransHas] R
AOpOKHas 1-8 oT ocesoi
pasmerka cresal

BuaumocTs asTomobuns
8 0GPaTHOM HanpagneHuit
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Buaumocts asTomobuns
8 TIPAMOM HaNpaBreHM

Ocesas nMHus

1-as 0T 0ceBo#

rOpMSOHTaJ’IbHaﬂ
AOpOXHas
asmeTka cnpasa

[TlopoXHbiE OrpaxaeHus u
HanpasnsiouiMe yCTponcTea
cnpasa

Tpotyapsl cnpasa

Jner 1m3 1




